HEATDH I
1 #IE
HEENX. ZERLEHOEFBEIBICAEE
L. &L AmHICEEL. 2 EHS30kn
BICHELTWET,
CORGIIMERFICEY ., HhDOTEEEH
SHEBEFEERTAE, BTOEERNKELEREX
(Fo2HYET,

2 AODKxR
AOESSYRHEE
ABFN1604E(19854F)

N
B 75 ~ 179

| #-% RITNLINY
-\ |

»~2 NN

| -~ M

| I o~+ NOONNNNY _|

10 8 6 4 2 0 0 2 4 (] 8 10

ACESHE CPR1 41081 AR Bifi: A

3= /

L] 3

15~19 B

10~ 14

A
NN

5~9

0~4

_ &t B ik
JN=E" 26,214 12,857 | 13,357
65l EAO 3,745 1,541 2,204
14.3 12.0 16.5
(RERLLL %) 2001l 174l 1225
HRR 7,857 (651,543)
— e AR 3.34 [2.86]
[ IRIE=ER
BH LA LERGHEES = ERERAIADHESE)
ACBHAE CERI4E) EES B A
Hi E:EES T
H A2 225 117 108
FET 20 152 81 71
| HEEADF) 8.58 [9.23]
| ECERADFH) 5.80 [8.27]
[ IRIE=ER
B ERRES ZERAODEHESE)
SENRAODHER B A
(19904F) | (19954F) | (20004F) | (20024F)
0~145% 6,246 5,065 3,920 3,727 |
15~645% 16,984 18,302 | 18,904 | 18,742
6555 LL_E 2217 2,851 3,481 3,745

O0~145 HR15~648 DO65ELLE

BH RECERFHRAEZ=ERFHIAOREER)



3 BFEREDKT

AOWAE (ER144F) e 3 B A
EEE ZLRE L R (F1B) — FRER | EIR B DR
B EAER AR T | HH H-5
E4-1) 225 1 0 0 9 0 116 48
ES [8.6] [0.4] [0.0] [0.0] [38.5] [0.0] [4.4] [1.8]
=ER 17,190 1,530 59 34 504 109 | 10511 4,088
[] [9.2] [8.9] [3.4] [2.0] [28.5] [6.3] [5.6] [2.2]
HERADFH), EXER(HEEH) . WRFEC-FER (HEFH)
R (HEFH) . BEMET (HETFH) . 15R- 8B ADFH)
SEHEBEEE B RESYEALS—E—TLHZ21F =2V RT L]
TR I~11] TR 10~ ] SiERHEERDOER LRFETERDOHR
_ F 1445
EEIL 1.18 1.24 OO 210~ 142
=55 1.45 1.42 ]
RS & (B A T3 OO 7115
= AT 3.40 1.02 ] WRRT
=13 417 3831200 15 100 050 00 _ _ _loo0 200 400 600
O=8
BB HERD#ERS ARFECEOKER
1.60 6.0
I S T o i P A
(1):28 30 bl 16\ "
0.60 20 / \
040 / \
0.20 1.0
0.00 0. _.'\ﬂ 8- f A~ -_0.‘
120 it H10 H11 H12 H13 H14 &
10.
& ® AEMECEORB
6o (HEFH)
| BEREL] 2
) O -
o g o
%, qaEER || 5, / \
—B—®AM| Qo —{ : \-a
P P p— 2t H10 H11 H12 H13 H14 #
4 Frpgy o o
FEABETE A 11075 % 40m~B6ARITH T HEFEBRIETE
SEEH %z'rc‘-‘e - KEEA, - = ﬁém(ﬂm -
. . T I
BIEREY) [194.1] [97.1] 1955 257.8 131.2
D & = 58.7 391 = 27 308.7 | 1730
= [gg.i] [jg.g] GE RBESEIAL Y —E =T B X 21T —F IV AT A
. . . FERL10~144E R 3
i & 4% 38 fzg.g] [43.81
iR & [10.6] [3.6] SRR 7 2
% R 2.5 5.4 AD1055 19.7 216 17.9
[8.6] [5.4] =5 2,035 1,379 656
= m : T4 g%@ 219 7032.5 513.79
= NV T VR R 21T — BN TV AT I
~T T z‘%m@;—5} VTV AT A FRE10~144E 83} = :

¥ﬁ3210~14f£§§+ (EImTiZIIEMme OFEET AV AQZER)

L JRIE=ER




250

25

300
250
200
150
100
50
0

50
40
30
20
10

FFABIETE(FR10~ 145 RE)

Y

(5B1%)

50 150

10 15

OO & & =
OO pim e
200 150 100 50 0 0
]
A
NN = m =
20 15 10 5 0 0
ERFABFETCEOERHER
B =i
e
W i% 150
] N - = DER
—‘u_- -i\- ‘-22‘"‘)“. .-.-':ﬁ .."!
1 1 L 1 1 —( - ﬁmg
HO HI0 HI1 HI2 HI3 Hi4 R
——E
W
- A= AR
— R
X “ I
H9 H10 H11 H12 H13 H14

=

ROFRT~114R548100

8
A

EHEHEVAR

v ot

150

100 A

T
Fhth

fiAtA



28, 977, 593
12, 305, 933
42. 5%
86. 2%

450, 565
43. 5%

196, 041
85. 4%

FRRIAEE ZEARBRERRE

6, 565

2, 086
31. 8%

85. 7%

| AREW

RERE
B EREEE DRRER - ZARREERE)

252
EisE-

EXREZSE

5 @BZDKX

S ,lI m.g N
H - N = P —
m.... M.,—/ .
" o mww 7 -
_ﬁ, ﬁm% © ¥ ¥ © ® © + « ©o )
5 e
o m
fix 1l 40 S
- Flm|l s | 5| =| & N
+O ﬁé._ < © M .zﬁ -~
] 1 §
<
0 M=l ||| N
. §® R -
% &
i Tel T1.1 % fig
$ ____H n w w ’ E
BX w| S| = m
fa o | ¥ % |
- 2 7lc 8
m s m Mﬂ ﬂ M M% uﬁ
= J @ | & ja
" R I A
©



